Lingo2fp_out. cpp
//Lingo2fp_out
//InLing. txtm, 5 fp_out. txtZ 5

#include <iostream. h>
#include <fstream. h>
#include <iomanip. h>
#include <conio. h>
#include <limits. h>

int ceil (int a, int b);
int floor(int a, int b);
const int CTTL=2532;
const int RTTL=2532;

}nt main(void)

int rttl, cttl;//row total, column total
int 1, j,k,minj;

int ¢c_name[CTTL], cst[CTTL], h[CTTL];

unsigned int G[CTTL][RTTL/32+1], wk_G[RTTL/32+1];

char pb_name[32], csttype[17];
int h1, wk_cst, wd_cname;
unsigned int ww;

double cp[CTTL], wk_cp, density;

[/ BmER//////////////1///1////
char s1[80], s2[80], s3[80];

int ringth, dlngth;//no user

r Ingth=80;// no user
dIngth=rIngth/2;// no user

[11707771777177777777717771777177

ifstream lingo(“InLing. txt”);
ofstream fpout (“fp_out. txt”);

if(1lingo || !fpout) {
cerr << “Error 17 < endl;
return 1;

cout << “InLing. txth . fp_out 7 7 A ILAZE#d, “ <K endl;
lingo >> pb_name >> rttl >> cttl >> csttype >> density >> si;

fpout << pb_name <K' " K rttl << 77 KL ettl K

density <<endl;

lingo >> s1;//MODEL:
lingo >> s1,;//SETS:

" K esttype <77 K

lingo >> s1 >> cttl >> s2;// cout <K s1 <" 7" K 82 K endl;
lingo >> s1 >> rttl > s2;// cout <K s1 <" 7" K 82 K endl;

lingo >> s1 >> s2 >> s3; //cout <K s1 <" " K 82 K"’

lingo >> s1; // cout << s1 << endl;

lingo >> s1 >> s2 >> s3; //cout << s1 <7 7" K 82 <K’

R—2 (1)

" < 83 KK endl;
" < 83 KK endl;
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lingo >> s1;// cout <K s1 < endl;//”"ENDSETS” & &k &>
lingo >> s2;// cout << s2 <K endl;//MIN=
lingo >> s3;// cout << s3 << endl;//@FOR
lingo > s1;// cout << s1 << endl;//@SUM
lingo >> s2;// cout << s2 << endl;//”@FOR(COL (J) :X(J)>0;) ;"
lingo >> s3; //cout << s3 << endl;//@FOR (COL
lingo >> s1; //cout << s1 << endl;//"DATA:" & & &

J/ChlE. =, lingo >>s2; cout <K s2 <L endl;//ZBITODHEHAEIXL
lingo >>s3;// cout << 83 <K endl;//"c="%5H:L

if(!((0<ctt] && cttI<=CTTL) && (O<rttl && rttlI<=RTTL))) {
cout <K “rttl= " < rttl KK 7 cttl= 7 K cttl << ” Error 10” << endl;
return 10;}

//BBlcstIZ AR
for (j=0; j<cttl; j++) {lingo >> cst[j];}

//EEHY (ctt I NMTODEE TIEHZ WD H)
if(cttl % 10 = 0) {
{or(j:cttl+1;j<:10*ceil(cttl,10);j++){cst[j]:—1;}

lingo >> s1;//" " Z&s1IZ&HT

//GDHEERE
for (j=0; j<cttl; j++) {
{or(izo;i<ceil(rttl,32);i++){G[j][i]zo;}

if(rtt1%321=0) { )
ww = UINT_MAX >> (rttl % 32); //UINT_MAXIZ<limits. DDEENNLHE
{or(jzo;j<cttl:j++){G[j][rttl/32]|:ww;}

for (i=0; i<rttl;i++) {if(i==0) {Iingo >> s1:;}//s1IZ” A="%F
for (j=0; j<cttl; j++) {

lingo >> ww;

it (ww==1) {

ww=(ww<< (31-1%32) ) ;

GLj1[i/32] [=ww;

}//if end

}//for j end

}//for i end

lingo > s1; //7:"

lingo >> s2; //”ENDDATA”
R—2(2)
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lingo >> s3. //“END”

//cstDfp_out. txt~DH A

for (j=0; j<ceil (cttl, 10); j++) {

fpout << cst[10%j+0] << ' 7 << est[10%j+1]
L est[10%j+2] << 7 7 <L est[10%+3]
< est[10%j+4] << 7 7 <L est[10%j+5]
L est[10%j+6] << ' " <L est[10%j+7]
< est[10%j+8] << ' " << est[10%+9]

for (j=0; j<cttl; j++) {
for (i=0;i<ceil (rttl,32);i++) {// i7—FH
fpout << G[j][i] << endl;

lingo.close();
fpout. close() ;

cout K "IEEE®TLELE, " K endl;
getch () ;

int check_key;

cout << "7 : 7,

cin >> check_key;

cout << check_key;

return 0;

}//main end
}nt ceil (int a, int b)
if(a % b)return a/b +1;

return a/b;

int floor (int a, int b)

return a/b;
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